Lecture 3

Buying and Selling
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In this chapter, we suppose that, instead of the fixed income, consumers have endowment. The list of resource units with which a consumer starts is his endowment. We will denote the endowment with       .
i) Budget constraint and budget line 
Denote the endowment of good 1 and good 2 by (
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 ). Then the budget constraint becomes:
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The above equation is represented in terms of gross demands (the amount of goods that consumers end up consuming). If we express the budget in terms of net demands (the difference between the amount of good that consumers end up consuming and the initial endowment), we have:
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If net demand is positive
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, the consumer is a net buyer of that good. If the net demand is negative, the consumer is a net seller or net supplier.

We still have the budget line similar to the case that the income is fixed. The endowment bundle is always on the budget line as the initial endowment is always affordable from the consumer’s point of view.


The objective of a consumer is still to maximize his utility, given the level of endowment and prices. Consumers can trade their endowments with others so that they can reach a higher level of utility
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ii) The movement of budget line

Changing in the endowment
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Price ratio (slope)is constant. The direction of the movement depends on the change in value of the total endowment.

Changing in prices

[image: image7]
The above picture is the example when price of good 1 changes. The price ratio will changes and the budget line will be pivoted around the endowment point as this point is always on the budget line.

iii) Consumption with Endowment


Consumer’s objective function is still to maximize is utility given the budget constraint.



Max U(x1,x2)



s.t. 
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Also, we still have the dual problem, the expenditure minimization problem.



Min E = 
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s.t. 
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Example 1:  Suppose that the utility function is 
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. Find the marshallian and hicksian demands for both goods.

iv)Change in consumption when price changes

Example 2 : Suppose that the consumer is a seller of good 1 
and price of good 1 decreases.
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If he remains a supplier, then his new consumption bundle must be on the blue part of the new budget line. So the consumer is worse off (by revealed preference). However, if the consumer decides to switch to be a buyer of good 1, it is unsure whether he will be worse of or better off.
Example 3: Suppose that the consumer is a buyer of good 1 and price of good 1 decreases.
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If the consumer is originally a net buyer of good 1, when the price of good 1 decreases, he will always continue to be a net buyer of good 1. If he switches to be a supplier, his budget line is on the blue part, which lies underneath the original budget line. However, we knows that originally, (
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 EMBED Equation.3  [image: image15.wmf])
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 is preferred to any point from y-intercept to the endowment point. Also, under new budget line, (
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 is feasible (inside the budget set). Therefore, consumers will not consume on the blue part which is less favourable than  (
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 EMBED Equation.3  [image: image19.wmf])
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. We can draw a conclusion that the consumer always remains a net buyer of good 1.
v) Offer curves and Demand curves


Offer curve contains all the utility-maximizing gross demands or the combinations of both goods demanded by a consumer at difference levels of prices.
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If we depict the curve representing the relationship between the price and the quantity demanded of some good, we get the demand curve. The gross demand curve represents the total amount of good a consumer chooses to consume. The net demand curve represents the difference between the gross demand and the endowment of good 1 if this is positive, and zero otherwise. Finally, the net supply curve is the difference between the initial endowment and the gross demand if this term is positive, and zero otherwise.
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vi) The slutsky equation revisited

Total change = substitution effect + ordinary income effect + endowment income effect


If we consider the case that endowment is involved, when the price of some good changes, there is a change in money income as well.

How to find slutsky equation?

I) Fixed money income and consider only the effect of a change in prices.

II) Find the pivoted budget line that has the same price ratio as the new budget line but passes through the original consumption bundle.

III) The movement from the original consumption bundle to the optimal consumption bundle on the pivoted budget line is substitution effect (the movement from point 1 to point 2).

IV) The movement from the optimal consumption bundle on the pivoted budget line to the optimal consumption bundle on the new budget line that has fixed  income (from point 2 to point 3) is the ordinary income effect.

V) The new budget line that has a change in money income is the budget line that has the new price ration and passes through the initial endowment.

VI) The movement from the optimal consumption bundle on the new budget line that has fixed income to the new optimal consumption bundle (point 3 to point 4) is the endowment income effect.
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 + endowment income effect

(1)
Where endowment income effect = 
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(2)

With
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, we have
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      endowment income effect = 
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(3)

Substitute (3) into (1), we have
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(4)

(4) is the slutsky equation when a consumer has endowment.

Example 4 : From example 1, given the initial endowment is 
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. Suppose further that 
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. Then price of good 1 changes to $1, find the substitution effect, income effect and the endowment income effect.
vii) Application to Labor supply

Opportunity Cost

· what we must forego when we make that choice

· comes from scarce money or scarce time

For example, on Saturday night, Ben chooses between 1.) seeing movie 2.) having party.

If Ben chooses to see movie, his opportunity cost for seeing movie is that the value he can enjoy at the party.
The budget constraint

Letting w be the wage rate,  L the amount of labor supplied, 
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is the endowment of a consumed good. Also, suppose that we have 24 hours a day, then the budget constraint is 
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We can interpret 
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 as the amount of leisure. Denote
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, we can rewrite the budget constraint of labor as:
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This is the same as the case that we have 2 goods (which is C and R here).

From (4) we can rewrite the slutsky equation for labor as:



[image: image38.wmf]
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(5)

Backward-bending labor supply


When the wage rate increases, the substitution effect makes people want to work more to have more consumption (substitute consumption for leisure). However, when the wage rate increases, the value of endowment (or income) goes up. Since leisure is normal good, people want to consume more leisure. Therefore, it is uncertain whether people will work more when the wage rate increases. The labor supply has backward-bending structure in the way that once the wage rate is really high, people will work less and consume leisure more.
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Figure 9.1 The budget line
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Figure 9.2 Changes in the value of the endowment
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Figure 9.3 Decreasing the price of good 1
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Figure 9.4 Decreasing the price of good 1
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Figure 9.6 Gross demand, net demand, and net supply
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